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To )(mal the derivative of F(x) = Sin(x), well need

+wo Ve{\j SPec:al Limiks! See below NL\B

these ore lewel

./&MSM_(X\’:i tl.mcl /K:MCM-'-'O.
X=0 X X—0 X

Leds shart with 89

Suppose_ X 1S o PasiJf‘n/e, number neac O .

A

/ >
i —

7
>
7

)
| £

f)pea: "Iibkz l?_SiﬂX Are&’“rz(z_x">: ix APLO.= ébl’\z i{anx

C,ovv.?a.rma the areas above , We see +hat

|
25X £ £X £ 3 tanX



Dividing b(j LSNX , We have
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What about Lfim cosx-1 7
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Thecefore,

(.S?n X) ’ = CosX

(Sfmilarl\j )

(Co.s x)l = =3SinX

We coan now )Cmcl e dermvatives o¥ -Lamx, sec,)c)

cobx and csCX us;nj derivatve Cules!'
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Summary:
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(sin x)’ = CosX (COS><>' - - sinX
(tamx)’ = sect X (Secx), = Seex- tanx
(cotx) = -csctx (csex) = - csex- cobx
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Exercises!

E_’(: Find +he derivadive of each J(unc_é;om below.
(o.) ’3 = Sec<|+3x)

(") Y= st (6x)



Solution:

(0\) y ’ = sec (If 3x) fa.n (l+3x) . (H-SX)I (cko.m ru.le)
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Asin(6x) - [S.‘n (6X>J ’ (chain rute)

2.S?n (GX)' C°5(6X) : (67()/ (cLa.‘n rule ... ajam-’)

Asin (6x) cos (6x) - 6




